27 20

Bg/L Bg/L
c c B (
35m 2 2 )
T-2 c-2-1 c-0 B-0-1 X-1
2 19 2 19 2 19 2 19
711 6:53 6:59
Cs-134 2 ND(2.4) ND(21) Cs-134 2 ND(17)
Cs-137 30 24 ND(23) Cs-137 30 41
B 18 ND(12) B 62
330 T-2
ND
C C 35m C-2 C
2 B
Bg/L  [SREEES RO f 1 roign B ReE e B R T T K
c c Rn g S : : : :
35m 2 | . T f “5 = I?ﬂi_&}__.:
T2 c-2t c-0 : | L oD T '
Cs-134 2 35 11/9 59 <8/11> 20 <2/15> ST e |
Cs-137 30 81 9/1511/9 22 2/18 51 <2/15> 1 e
i
r ]
B ND 110 <10/7> 120 <2/15> “'E :_ ) I E_imn__aﬁzsmn ......
B 2 ( | § e M (RS = T 7 ‘ / '2% '
B-0-1 ) B Hopmttly §2 VA S e S /oI BRI
X-1 3’ b g | 2 ‘ S L A IZFF, PRAISNTHY, CHKEE
Cs-134 2 110 <5/1> 450 10/4 - ADRNABIIBIERA
Cs-137 30 280 <5/1> 990 1074 1441 | X SERERS SRS TEMWE
B 380 9/2 15000 10/2
25 26 27

OB EEAN A R DT
| ARR-EF KA @1 3998 128RE




